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Social control is________________________________________________________
____________________________________________________________________
Social order is_________________________________________________________
____________________________________________________________________


The Consensus approach says that people follow rules because______________________
____________________________________________________________________
The Conflict approach says people follow rules because___________________________
____________________________________________________________________

Formal Social Control
Written rules
1. __________________________________________________________________
2. __________________________________________________________________
3. __________________________________________________________________

What would happen if we had no rules or people just didn’t follow them?______________
________________________________________________________________________________________________________________________________________

Agencies of Formal Social Control

· The Government-


· The Police-


· The Courts and Judges-
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· The Prison Service-
Informal Social Control

We learn taken-for-granted rules by________________________________________
____________________________________________________________________
Taken-for-granted rules
1._______________________________________________________________________________________________________________________________________
2.______________________________________________________________________________________________________________________________________

People respond to unwanted behaviour by_____________________________________
____________________________________________________________________
People respond to wanted behaviour by_______________________________________
____________________________________________________________________

Socialisation is_________________________________________________________
________________________________________________________________________________________________________________________________________

Deviancy Amplification is_________________________________________________
________________________________________________________________________________________________________________________________________
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